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WHAT IS SOLUTION OF TRIANGLES ?

3 sides

3 angles

If anyof
3 element is given

As

find the other elements



(c = 90%

SOLUTION FOR A RIGHT ANGLED TRIANGLE

TWO SIDES

GIVEN REQUIRED

A

C
a , b temA= B = 90-A ,

c=
b

C d
B

C
,
a sinA = A ,

b = cosA
,
B = 90-A



(c = 90%
SOLUTION FOR A RIGHT ANGLED TRIANGLE

ONE SIDE

& ONE ANGLE REQUIRED
GIVEN

A

b
C

a, A B = 90-A
,
b = acotA

,
c=A

C d
B

C , A B = 90-A ,
a = sinA

,

b = c . COSA



SOLUTION FOR A GENERAL TRIANGLE

WHEN THREE SIDEs a , b , c are given.
B

C
.. 25 = a+ b + c

a

C b
A * = JS(s -a)(s -b)(s- c)

sin A sinB= sinc

tanA =1 tanb= tanz=
ES(S-a) 2 S(S-b)



A

WHEN TWO SIDES a , b AND

INCLUDED ANGLE LC IS GIVEN D
C

i
C a B

X = tabsin( tanB=

=90-casin
(

Sin A



WHEN ONE SIDE a
A

AND Two ANGLEs A and B are given
-b

C = 180
°
- A - B BD

a C

b = asinB =

A = -acsinB



WHEN TWO SIDEs a , b

and LA OPPOSITE to ONE SIDE IS GIVEN.

A

N b
Sin B= sin A C

B a C

C = 188 - A - B

c

=in



If the sides of a right angled triangle be in AP, then their 
ratio will be
(a) 1 : 2 : 3  (b) 2 : 3 : 4
(c) 3 : 4 : 5  (d) 4: 5: 6

-

1490 4+ a + 10 TR :

I Hypo.

↑K ①
16 + 25 7 36

and ,a,d a-1 = 3
(a +d)2 = al + (a

-d)
a

ap+ 2ad+ = a+ az - 2nd + d a+a = 5-

zad + zad
= al

ad = at :a 3 : 4 :5

=3: 5
d = &



If the angles of a triangle are in the ratio 1: 2: 3, then their 
corresponding sides are in the ratio
(a) 1 : 2 : 3  (b) 1: √3 : 2
(c) √2 : √3 : 2 (d) 1: √3 : 3

A : B : C

#t
X 386090

%

SinA : SinB : sinc = a
: b !

sin30 : singo : singo
= 1 : 1 : 1

2 2

= 1 : J : ) = a : b : <



If in a ΔABC, b = √3, c = 1 and B - C = 90°, then ∠A is
(a) 30° (b) 45° (c) 75° (d) 15°
--

=>

T
tan15=

fan 45
tan 150 =fan

A

tan-cut 15
°

=
A
2

2

2 2

= .cott
tanA

tem =2



In a AABC, sin A: sin B: sin C = 1:2:3. If b = 4 cm,
the perimeter of the triangle is
(a) 6 cm (b) 24 cm (c) 12 cm (d) 8 cm

# #

P
sin A : sin B : sinc = a : b : C

1 : 2 : 3 -:=Y 2



If the sides of triangle be 6, 10 and 14 then the
triangle is
(a) obtuse angle  (b) acute angle
(c) right angle  (d) equilateral

B

C=

a=
6 14

T C
b = 10 A

a < b <

cosc=-196 LALB

L = 98 R . AT· =-= co S
as accute

co 798
:

obtuse

O Langle (180
:



The area of an isosceles triangle is 9 cm2. If the
equal sides are 6 cm in length, the angle between
them is
(a) 60° (b) 30° (c) 90° (d) 45°

A =9a

-

:
Y

D = 1 . 6X6X Sin
&

9 = 18· sin 0
&

t sin



The perimeter of a ΔABC is 6 times the arithmetic mean 
of the sines of its angles. If the side a is 1, then the ∠A is
(a) 30° (b) 60° (c) 90° (d) 180°

# El
V
+c = - (sinA + sinB + sinc) = 2(sinAtsinB + sin()
-

-B ·
= Ac= K(sinA +sinB+ Sinc

sink->
& k=2

b = K sin a = ksinA
↑

T

C= (sin( = sinA =sin



If cos2 A + cos2 C = sin2 B, then ΔABC is
(a) equilateral triangle  (b) right angled triangle
(c) isosceles triangle  (d) None of these

cos(90-A) = sinA

↳ B = 900

*
(C = 90

°

- LA

Notan Lus
= /u + Y= 2=2 If right angled D,

equrns 3/4
LB = 90°

sin'B =

cos'A + cos ?? = cosA + cos(90
- A)

= cos A+ sinA
= E
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